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1. Discuss the innovation theory of profit.

Or

Describe the marginal productivity theory of
wage determination.
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2.

3.
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Explain the determination of equilibrium of a firm
in a single-factor market under condition of single
variable factor.

Or
Explain the equilibrium of a monopsonist who
uses several variable factors.
How is social welfare maximized under Pareto
optimum theory of social welfare?

Or
Critically discuss Kaldor-Hicks compensation
principle.
Discuss the net present value method of project
evaluation.

Or

Discuss the elements of social cost-benefit
analysis.

State and explain the comparative advantage
theory of international trade.

Or

Discuss the main features of Heckscher-Ohlin
theory of international trade.
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Answer all questions

SECTION—A
( Marks: 10)

Tick (v) the correct answer in the brackets provided :
1x10=10

1. Which of the following is not included in the
assumptions of Clark’s marginal productivity theory
of distribution?

(a) Perfect competition ( )
(b) Constant population ( )
(c) Constant amount of capital ( )

(d) Labour as heterogeneous ( )
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